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����ก�����  ��
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1. �"�����
�
��%�&������'"
����ก����� 

1)  �)���'"
ก��� �� 3 ��	
 ��
 

(1)  sin A  =   �
�
  sin A ⋅ cosec A = 1 
 

(2)  cos A =  �
�
  cos A ⋅ sec A = 1 
 

(3)  tan A =  �
�
 tan A ⋅ cot A = 1 
 

2)  �)���"�����
�
����*"'�& tan A, sin A, cos A 

(1)    tan A = ����
  cos A  ≠≠≠≠  0  
 

(2)   cot A =   ����
  sin A  ≠≠≠≠  0   
 

3)  �)����ก��ก��� 

(1)  sin2 A + cos2 A =  1 
(2)  sec2 A  - tan2 A =  1 

(3) cosec2 A -  cot2 A =  1 
 

4)  �)���"�����
�
������� B̂Â ++++    =  900   
����
                  =  900    !"#$ 

(1)   sin A  =  cos B  �
�
   sin B  =  cos A 

(2)   tan A  =  cot B �
�
   tan B  =  cot A  
(3)   sec A  = cosec B   �
�
   sec B  =  cosec A 

 

 

 

 Acosec
1  

 Asec
1  

cot A
1  

Acos
Asin

 

Asin
Acos

 

B̂Â ++++  

*%<��"���"�&  (1) , (2) , (3)  =���'�ก�
>�<�<�&���&���
>%"'�              =  900   ��'�
�?
*  B̂Â++++  
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������  �&'��(�)(*+,
!�&-'. tan A, sin A, cos A 
 

 'ก
�1�'���2��3�  sin A  =   

 cos A  =   

 tan A  = 

 
 !��4*&-' = = = 

 
#(.*(5*   = tan A ����
 cos A  ≠≠≠≠  0 
 
62!   = cot A ����
  sin A  ≠≠≠≠  0   

 
������   ��	
�
ก2(ก78, 
 

 'ก
�1�'���2��3�  sin A    =   

 cos A   =   

 

 

sin2 A + cos2 A =      

 = 

 = 

 = 

sin2 A + cos2 A =      1 

Acos

Asin
 

Asin

Acos
 

Acos

Asin
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c
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b
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c
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c
a ÷÷÷÷  b

c
c
a ××××  b

a  

c
a  

c
b  

 'ก;<7=�>;)�;'?ก
(�   a2 + b2   =   c2  

2

2

2

2

c
b

c
a ++++  

2

22

c
ba ++++  

2

2

c
c  






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
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
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������   ��	
�
ก2(ก78, 
 

 'ก
�1�'���2��3�  sec A    =   

 tan A     = 

 
sec2 A   -   tan2 A =      1      

= 

 

= 

= 

= 

sec2 A   -   tan2 A =      1      
 

������   ��	
�
ก2(ก78, 

 'ก
�1�'���2��3�  cosec A    =   

 cot A     = 

 
cosec2 A -  cot2 A =  1 

= 

= 

= 

= 

cosec2 A -  cot2 A =  1 

b
a  

b
c  

A 

B 

C 

a 

b 

c 

 'ก;<7=�>;)�;'?ก
(�   a2 + b2   =   c2  
 b2  =   c2 - a2 

a
b  

a
c  

A 

B 

C 

a 

b 

c 

22

a

b

a

c







−−−−






  

2

2

2

2

a
b

a
c −−−−  

2

22

a
bc −−−−   'ก;<7=�>;)�;'?ก
(�   a2 + b2   =   c2  

 a2    =   c2 - b2 
2

2

a
a  

2

2

2

2

b
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b
c −−−−  

2
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b
ac −−−−  
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������  �&'��(�)(*+,����
                =  900  

 
  'ก
�1�'���2��3�   =   900   

sin A     =  cos A   =   

cos B   =   sin B     = 
 

#(.*(5*  sin A   =  cos B 

 62!     cos A   =   sin B 
 

������  �&'��(�)(*+,����
                =  900    !"#$ 

 
  'ก
�1�'���2��3�   =   900   

tan A     =  cot A   =   

cot B   =   tan B     = 
 

#(.*(5*  tan A   =  cot B 

 62!     cot A   =   tan B 
 

2.  ก��*�������& A���"���)&���BC<������'"
����ก����� 

 
 
 
 
 
 

�#��&�  ��'3CD. �E�;��&(# 'ก
!#(>�'3	'FD5*"13(.&(	CEGD�.
3�-�)&ก&-'D)<��&�ก� 
�#�ก<�  ��'3CD. �E�;��&(# 'ก
!#(>�'3	'2."13(.&(	CEGD�.
3�-��E�ก&-'D)<��&�ก� 
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A
"%<����  

=&����ก�E�������F)ก�<�&����#��
��&%<�����" 

1. F$
K#	-
"1*�5�1L*=��& 

ก. sin2 A  -  cos2 A  =  1 F. cot A ⋅ sin A  =  cos A 

�. sin x  +  cos x  =  1 .. tan2 x  =   
���
��ก���E�     KN$�&'��(�)(*+,
!�&-'. sin A, cos A 62!  tan A 
�G��  % 

A
"��� 

�*��
. 'ก  cot A =  

)O '
8'   cot A ⋅ sin A = 

#(.*(5*  cot A ⋅ sin A   =   cos A 
 

2. C$'  (sin A  +  cos A)2 =   62$&  sin A cos A  ���-'�;-'ก(>�;-'K# 

ก.  
2

1
 F.  

4

1
 

�.  
8

1
 ..  

6

1
 

���
��ก���E�     KN$�&'��(�)(*+,  sin2 A  +  cos2 A  =  1 

�G��  � 

A
"���    'ก  (sin A  +  cos A)2 =    

  !"#$  sin2 A  +  2sin A cos A  +  cos2 A  =   

 (sin2 A  +  cos2 A)  +  2sin A cos A   = 

 1  +  2sin A cos A   = 

 2sin A cos A   = =  

 #(.*(5* sin A cos A   = = 
 

xcos
11 2++++  

Asin
Acos  

AsinAsin
Acos ⋅⋅⋅⋅  

4
5  

4
5  

4
5  

4
5  

4
5  

1
4
5 −−−−  

4
1  

8
1  

24
1
××××  
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3. 2cos A  sin A · ���-'�;-'ก(>�;-'K# 

ก.  2 F.  3 
�.  4 ..  5 

���
��ก���E�    KN$��	
�
ก2(ก78, sec2 A  -  tan2 A  =  1  62!  cosec2 A  -   cot2 A  =  1 
�G��  ก 

A
"���    'ก  sec2 A  -  tan2 A  =  1   

 sec2 A =  1  +  tan2 A 

  !"#$ sec A =   
 

  'ก  cosec2 A  -   cot2 A  =  1 

 cosec2 A =  1  +  cot2 A 

  !"#$ cosec A =     
 

 )O '
8'   2cos A  sin A ·   ·  

 = 2cos A  sin A ·  sec A  ·  cosec A 

 = 2cos A  sin A ·   ·   

 = 2 
 

4. C$' ABC �1L*
�1�'���2��3�;�����E� B �1L*�E�Q'ก 62! sin A = 5
3  62$& cos (B-A)  ���-'�;-'ก(>�;-'K# 

ก.  F.  

�.  ..  
���
��ก���E�    KN$�&'��(�)(*+,  ĈÂ ++++  = 90O 

�G��  ก 

A
"���   H2>&กF
.�E�S'3K*
�1�'���2��3� ABC = 180O  62!�E� B = 90O 

 !"#$  ĈÂ ++++  =  90O 
#(.*(5* B̂   =  ĈÂ ++++  
 ÂB̂ −−−−  =  Ĉ  

 cos (B-A) =  cos C 
62!�*��
. 'ก  ĈÂ ++++  =  90O 

#(.*(5* cos C =  sin A  =   

Atan1 2++++  

Acot1 2++++  

Atan1 2++++  Acot1 2++++  

Acos
1  

Asin
1  

5
3  

5
4  

4
3  

3
5−−−−  

5
3  

Acot1Atan1
22 ++++⋅⋅⋅⋅++++  



2554 ����	
���
 (09) ����ก����� ������ 2  �.ก�ก���  ����ก�ก�� 8 

5. ��3,3�*�-'. 'ก	Dก�2(.�*D�. 100 ��	
  C$'�+
�
.FD5*"1;��3
#	Dก)>&-' 	$
.;U'�E��.3 30 O  	Dก�2(.*�5��.ก����	
 
ก. F. 

�.   120  .. 
���
��ก���E�   &'#
�1 U'2
.�C'*ก'
8, 62$&KN$
(	
'�-&*	
�?ก8�O	O�'�&'�3'&#$'*;��	$
.ก'
 
�G��  ก 

A
"��� K�$  AC  6;*	Dก 
  E#  B  �1L* E#;����3,3�* 
  !&'#
�1 U'2
."#$#(.
�1 

 
 
 
 =  tan 30O 

 =   

 AC =   

  =   

  = 

	Dก�2(.*�5��.    ��	
 
 
6.    �E8�
3E;+"1;U'F-'&>*	Dก�2(.�*D�.GD�.��. 12 ��	
 �F'�(.�ก	��4*
CF
.H�$	$
.�.�(3 
#
3�->*C**�1L*

�E�ก$� 60 
.V' 
C�(**�5�-'. 'กW'*	Dก1
!�'8ก����	
 (กU'�*#              ) 
ก.  20.7 F.  18.7 
�.  6.9 ..  5.2 

���
��ก���E�   &'#
�1 U'2
.�C'*ก'
8, 62$&KN$
(	
'�-&*	
�?ก8�O	O�'�&'�3'&F
.#$'*;��	$
.ก'
 
�G��  � 

A
"��� K�$  AB  6;*	Dก 
 A     �1L* E#;���
3E;+�(.�ก	 
 C     �1L* E#;��
C3*	, 
# 
  !&'#
�1 U'2
."#$#(.
�1 

 
 
 

A 

B C 30O 
100  ��	
  

732.13 ≈≈≈≈  

A 

B C 

12  ��	
 

 

60O 

60O 

3100  

3120  
3

3100  

100

AC
 

BC
AC  

3
1  

3
100  

33
3100

××××
××××  

3
3100  

3
3100  
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 =   tan 60O 

 =  

 BC = 12 

 BC = =     

 =  =   

 BC = 4 � 1.732  ≈  6.928 
#(.*(5*
CH�$	$
.�.�(3
3�-�-'. 'กW'*	Dก1
!�'8  6.9  ��	
 

%<����   
�$  1  �E�  1  #$'*   !�'#$'*;����2�
"#$  ?#3KN$
(	
'�-&*	
�?ก8�O	O 

 
7. �C���*���>�'  &.#*	
��'
'>'&�#O*;'. 'ก;��)(กF
.	*�
.�)��
"1�2-*#*	
�;���&;�GD�.
3�-;'.;OV	!&(*

กF
.

�F'K�X- #(.
�1  C$' BC  �;-'ก(> 20 กO?2��	
 �;-'ก(>  30  
.V'            �;-'ก(>  70   

.V' F8!;��กU'2(.�#O*;'. 6
Y# �'
'>'& 
ก2-'&&-' 
CF
.�8!&.#*	
� !
3�-Kก2$�F'
K�X-�'ก;���E# 10 กO?2��	
  �E8�N��
�
�
"�- 

  
 
 
  
 K�$  C  6;*�F'K�X- 
 2'ก  	(5.Q'กก(> ;�� E#  D 
 CD �1L*
!3!;'.;��
CF
.�8!&.#*	
�
3�-Kก2$ 

�F'K�X-�'ก;���E# 

 K*  ∆  BCD, =    sin 30O 

 =      

 CD =      =   10 


CF
.�8!&.#*	
�
3�-Kก2$�F'K�X-�'ก;���E#  10 กO?2��	
    
O. �E8�N��
 6
Y# �'
'>'&  "#$ 
 

3  
BC
12  

BC
AB  

3
12  33

312
××××
××××  

3
312  34  

3  

CB̂A  BĈA  

30O 70O 

A 

B C 20 ก.�. 

30O 

A 

B C 

D 

20 ก.�. 

CD  AB  

BC
CD  

20
CD  2

1  

202
1 ××××  
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8. N'3�*�*D�.3�*
3�->*	Dก��. ��	
  �F'�
.��4*
C3*	, 2 �(*
3�-K*6*&�#�3&ก(>	Dก*(5* #$&3�E�ก$� 30O  
62!  60O    	'�2U'#(> 
C;(5.�
.�(**�5
3�-�-'.ก(*ก����	
 

ก.  30 F.  20 
�.  15 ..  10 

���
��ก���E�   &'#
�1 U'2
.�C'*ก'
8, 62$&KN$
(	
'�-&*	
�?ก8�O	O�'�&'�3'&F
.#$'*;��	$
.ก'
 
�G��  % 

A
"��� K�$  AB  6;*	Dก 
 A     �1L* E#;��N'3�*�*D�.3�*
3�- 
 C     �1L* E#;��
C3*	,�(*;�� 1  
# 
 D     �1L* E#;��
C3*	,�(*;�� 2  
# 
  !&'#
�1 U'2
."#$#(.
�1 
 

 

 K*  ∆  ABC, =    tan 60O 

=     

BC =     = 

BC =       10 = 

 K*  ∆  ABD,  =    tan 30O 

  = 

 BD = =    30 

 CD = BD  -  BC 

  = 30  -  10 
 CD = 20 

  

 ��&
�?
 �F��?&��&��
��)'*'�&ก�
  20  ����  

310  

BC
AB  

3  

310  
BC

310  

3  

3310 ××××  
BD

310  

BD
AB  

3
1  

 

 � � 

30O 60O �

310  


